Y F’ENNY®

Global Foodser

Henny Penny
Heated Holding Cabinet
Model HHC-900
Model HHC-902
Model HHC-903
Model HHC-906
Model HHC-908
Model HC-15

TECHNICAL MANUAL







Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

TABLE OF CONTENTS

Section Page
Section 1. TROUBLESHOOTING. ... .ottt eeeeitveee e e e e e e sesaraeeeeeeseseenns 1-1
| R 0915 ¢ Yo 11 o7 (o) o WEUUUR RO 1-1
L -} (<] USRS 1-1
1-3.  TroubleShOOtING ....cc.veiiiiieeiiie ettt ettt e e ree e sereeesaneeens 1-1
Section 2. MAINTENANCE ... e et e e s et ee e e e e e eeinns 2-1
2258 BN U5 (0 Yo L o7 5 (o) o WP 2-1
0 1 A 6T 5 40000153 0 1S R 2-1
2-3. Removal of Module Access Panel .......c...oioiiiiiviiiiiiiiiieeeee e 2-1
2-4. Module REMOVAL .......oevviiiiiiiic i e i e 2-1
2-5. Removal of Module HOUSING .....icccciiiiiiiiiiieeieece e 2-2
T 2§ T R 2-3
2-T. POWET SWILCH ..ot it it e e e 2-4
N 4 1< 0 6 Lo 1] 71 A PR 2-5
2-9. Indicating LightS . i e iiie ettt ee et e e e s 2-6
02 L0 5150 0 0111 1< T s RS RR 2-7
N R = (51 1< S N S U 2-8
B B T4 1B 555325 e S S SRS 2-9
2 T 57 [0} s SRR 2-10
2-14. Door Gasket Replacement...........ccecveieriiieeiciteniiiieeiee et e 2-12
2-15. WITING DIAZIAMS ...ceviiiis it eeieeeeieeevae e iaeteenereeesareeeaaeesseeesaseeessseesnsseesnssens 2-13
Section 3. PARTS INFORMATION ...ttt eeeteee e e s eeaaaaeee e e e e e 3-1
I RN ' 15 o Yo 11 o7 (o) o WEUURER ROt 3-1
R € [ 110 0 Tl i v ROt 3-1
3-3. HOW t0 FINA PAITS ..ovvveiiiiiic ettt e e e e e 3-1
R & (o) 1o X O ' (< (ROt 3-1
T T b 5 (o7 J S SRRt 3-2
R T B 1S] § 7<) USSR 3-2
3T WAITANLY ..ttt e et e e ettt e e e st ee e e s abaeeeesnntaeeeennsseeeeananeeeeens 3-2
3-8. Recommended Spare Parts for Distributors..........ccceeevveerciiiencieeeiieeeiee e 3-2
106 FM06-021 i

Revised 9-23-14






Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

SECTION 1. TROUBLESHOOTING

1-1. INTRODUCTION This section provides troubleshooting information in the form of
an easy to read list.

If a problem occurs during the first operation of a new cabinet,
recheck the Installation Section of the Operator’s Manual.

Before troubleshooting, always recheck the Operation Section of
the Operator’s Manual.

1-2. SAFETY Where information is of particular importance or is safety related,
the words NOTICE, CAUTION, or WARNING are used. Their
usage is described below.

SAFETY ALERT SYMBOL is used with DANGER,
WARNING, or CAUTION which indicates a personal
injury type hazard.

M@?”@E NOTICE is used to highlight especially important
information.

CAUTION used without the safety alert symbol indicates

c AUTION a potentially hazardous situation which, if not avoided,

may result in property damage.

CAUTION used with the safety alert symbol indicates a
potentially hazardous situation which, if not avoided,
may result in minor or moderate injury.

The word WARNING is used to alert you to a
procedure, that if not performed properly, might
cause personal injury.

1-3. TROUBLESHOOTING To isolate a malfunction proceed as follows:
1. Clearly define the problem or symptom and when it occurs.
2. Locate the problem in the troubleshooting table.
3. Review all possible causes, then one at a time work
through the list of corrections until the problem is solved.

If maintenance procedures are not followed correctly,
injuries and/or property damage could result.

203 11



Y PENNY®

Global Foodservice Solutions

1-3. TROUBLESHOOTING (Continued)

Models HHC-90X/HC-15

PROBLEM

CAUSE

CORRECTION

OPERATION

A. Product not
holding
temperature

B. Cabinet
steaming -
product
becoming

soggy

C. Product dry

* Doors are left open

¢ Thermostat set too low

* Gasket torn or worn

* Heater not working

* Blower not working

* Product held too long

* Low or improper voltage

» Keep doors closed except to
load and unload product

* Increase thermostat setting by moving
the knob to a higher number setting

* Replace gasket per Door Gasket
Replacement Section

* Check heater; replace per Heater
Section

* Check blower; replace per Blower
Section

* Hold product only for recommended
time

» Using meter, compare receptacle
voltage to data plate voltage

* Too much humidity inside the cabinet
* Holding product too long

* Vent not set properly (units
with vent adjustment only)

* Empty water from the water pan
* Hold product for recommended time

* Adjust vent per Operator’s Manual

* No water in pan

* Remove pan and put in approximately
17 of hot water

HEATING SYSTEM

A. Unit will
not heat

* Faulty thermostat

* Faulty high limit

* Faulty heater

* Faulty wiring

* Check thermostat per Thermostat
Section

* Check high limit per High Limit
Section

* Check heater; replace per Heater
Section

* Check wiring for loose connections
or broken wires and repair as needed

203



Y PENNY®

Global Foodservice Solutions

1-3. TROUBLESHOOTING (Continued)

Models HHC-90X/HC-15

PROBLEM

CAUSE

CORRECTION

HEATING SYSTEM (Continued)

B. Unit will not heat
to desired temp-
erature

C. Unit overheating

* Faulty blower

* Thermometer not indicating
true temperature

* One of heaters defective

* Doors being left open too much

* Gaskets torn or worn

* Defective high limit on one of heaters

* Check blower; replace per Blower
Section

* Check cabinet temperature with
another thermometer; if necessary,

replace per Thermometer Section

* Check heater; replace per Heater
Section

* Only open doors as necessary

* Replace gasket per Door Gasket
Replacement Section

 Check high limit; replace per High
Limit Section

* Faulty thermostat

* Faulty blower

* Check thermostat; replace per
Thermostat Section

* Check blowers; replace per Blower
Section

VENTILATING SYSTEM

A. Both blowers
not working

203

 Faulty blowers

* Faulty fuse (if equipped)

* Check blowers; replace per Blower
Section

* Check fuse; replace per Fuse Section






Y PENNY®

Global Foodservice Solutions

Models HHC-90X/HC-15

SECTION 2. MAINTENANCE

2-1. INTRODUCTION

2-2. TEST INSTRUMENTS

2-3. REMOVAL OF THE
MODULE ACCESS

T

203

This section provides procedures for the testing and replacement
of the various parts used within the cabinet. Before replacing any
parts, refer to the Troubleshooting Section. It will aid you in deter-
mining the cause of the malfunction.

You may use two test instruments to check the electric
components.

1. A continuity light
2. An ohmmeter

When the manual refers to the circuit being closed, the continuity
light illuminates or the ohmmeter reads zero unless otherwise noted.
When the manual refers to the circuit being open, the continuity
light will not illuminate or the ohmmeter will read 1 (one) or
infinite resistance.

A continuity tester cannot be used to check coils.

In most procedures of the maintenance section, the access panel
must be removed from the top of the module. This access panel
can easily be removed by taking out the four screws that fasten it
to the module shell.

NOIICE

If the component module of the cabinet has to be removed,
be sure to remove the four screws (one at each corner) before
lifting it from the unit. Also, when work has been completed
on the module, be sure to relocate it properly and reinstall the
screws that fasten the module to the cabinet. Failure to do so
might cause the unit to perform inadequately.

241



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

2-5. REMOVAL OF If the need for extensive service is required on the module compo-
MODULE HOUSING nents, the entire outer shell of the module can be removed to make
. servicing easier. To remove the outer shell of the module, follow
these procedures:

1. Remove the module from the cabinet per Module Removal
Section.

2. Remove the six (6) screws that are located on the sides of the
module.

3. Remove the four (4) screws located at the corners of the
module top.

4. Remove the screws from the control panel and the back
panel, that fasten them to the module housing.

5. Lift the shell of the module off the unit.

6. When work is completed, reassemble in reverse order.

Step 5

2-2 803



PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

2-6. FUSE

NOIICE

All units are not equipped with fuses.

If both blowers quit working at the same time:

1. Remove electrical power supplied to the cabinet.

SHOCK HAZARD

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

2. Remove the cap from the fuse holder by turning it counter-
clockwise. (Located above the power cord.)

3. ~Pull the fuse from the holder.

4.  Check the fuse for defectiveness by putting both leads of the
ohmmeter or continuity light on opposite ends of the fuse.
The fuse should be closed, or read no resistance. If the fuse
is found to be defective, replace it with a new one. Be sure to
use an identical fuse as the one being replaced.

Step 3

5. ' Replace the cap to the fuse holder.

6. Reconnect the electrical supply to the cabinet.

203 2-3



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

1. Disconnect the electrical supply to the cabinet.

2

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

SHOCK HAZARD

2. Remove the four (4) screws from the control panel and pull it
down.

3. Remove all wires from the switch. Check across the two
terminals of the switch for continuity. With the switch in the
ON position, the circuit should be closed. With the switch in
the OFF position, the circuit should be open. If the switch is
found to be defective, replace it by continuing with the fol-
lowing instructions in this section.

4. Loosen the nut holding the switch on the back side of the con-
trol panel and then remove the nut on the front of the control
panel.

Step 4 5. Remove the switch.
6.  Install a new switch in reverse order.

7. = Reconnect the wires to the switch on the same terminals that
they were previously on.

8. Push the control panel back in place and put in screws.

9. Reconnect the electrical supply to the cabinet.

2-4 803



Y PENNY®

Global Foodservice Solutions

2-8. THERMOSTAT

Step 11

203

Models HHC-90X/HC-15

1. Disconnect the electrical supply to the cabinet.

@ SHOCK HAZARD

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

2. Remove the access panel from the top of the module.

3. Remove the four (4) screws from the control panel and pull it
down.

4. Remove the wires from the thermostat. With the thermo-
stat set at the maximum setting (all the way clockwise), the
circuit should be closed. With the thermostat in the 0, or OFF,
position (all the way counterclockwise), the circuit should be
open. If the thermostat is found to be defective, replace it by
continuing with the following instructions in this section.

5. Remove the four (4) nuts that hold the blower box to the cabi-
net.

6. Lift the blower box up to expose the thermometer and
thermostat bulbs.

7. While holding the blower box, remove the two (2) nuts that
secure the bulb retaining clamps and remove the thermostat

bulb from the clamps.

8. Using a 5/64” Allen wrench, loosen the two (2) set screws in
the thermostat knob and remove the knob.

9. Remove the two (2) nuts that hold the thermostat bracket to
the control panel.

10. Remove the thermostat shaft extension with a 1/16” Allen
wrench.

11. Remove the two (2) screws that hold the thermostat to the
bracket.

12. Remove the thermostat from the unit.



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

2-8. THERMOSTAT 13. Install a new thermostat in reverse order.
(Continued)

14. Reposition the blower box and secure it with the four (4)
nuts previously removed.

CAUTION

Be sure that both the thermometer and thermostat capillary
tubes pass through the notches in the front corners of the
blower box. Failure to do so could permanently damage the
thermometer or thermostat and cause improper operation of
the cabinet.

15. Reseal the notches in the blower box corners with silicone
rubber sealant.

16. Push the control panel back in place and put in screws.
17. Replace the access panel to the module.

18. Reconnect the electrical supply to the cabinet.

2-9. INDICATING LIGHTS

NOIMICE

This section should be followed when replacing either of the
two (2) indicating lights in the control panel.

1. Disconnect the electrical supply to the cabinet.

@ A WARNING

SHOCK HAZARD
To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

2. Remove the four (4) screws from the control panel and pull it
down.

3. Cut the light wires just behind the body of the light.

2-6 203



Y PENNY®

Global Foodservice Solutions

2-9. INDICATING LIGHTS 4.
(Continued)

Step 4
2-10. THERMOMETER 1.

203

10.

Models HHC-90X/HC-15

Remove the light by squeezing the retainers on the body and
pushing the light out through the control panel.

Install a new light by pushing it through the front of the con-
trol panel until it snaps securely in place.

Strip the ends of the cut wires and connect them to the new
light with wire nuts.

Push the control panel back in place and put in screws.
Reconnect the electrical supply to the cabinet.

Disconnect the electrical supply to the cabinet.

SHOCK HAZARD

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

Remove the access panel from the top of the module.

Remove the four (4) screws from the control panel and pull
it down.

Remove the four (4) nuts that hold the blower box to the
cabinet.

Lift the blower box up to expose thermometer and thermostat
bulbs.

While holding the blower box, remove the two nuts that
secure the bulb retaining clamps and remove the thermometer
bulb from the clamps.

Remove the two (2) nuts that hold the mounting brackets
on the back of the thermometer body.

Remove the thermometer by pulling the body and capillary
tube through the control panel.

Install a new thermometer in reverse order.

Reposition the blower box and secure it with the four (4)

nuts previously removed.
2-7



Y PENNY®

Global Foodservice Solutions

2-10. THERMOMETER
(Continued)

Step 8

12.

13.

14.

2-11. HEATER

Step5 4.

I1.

Models HHC-90X/HC-15

CAUTION

Be sure that both the thermometer and thermostat capillary
tubes pass through the notches in the front corners of the
blower box. Failure to do so could permanently damage the
thermometer or thermostat and cause improper operation of
the cabinet.

Reseal the notches in the blower box corners with silicone
rubber sealant.

Replace the access panel to the top of the module.
Push the control panel back in place and put in screws.

Reconnect the electrical supply to the cabinet.

INCHICE

This section should be followed when replacing either of the
two (2) heaters in the cabinet. If there is a heating problem,
both heaters should be checked.

Disconnect the electrical supply to the cabinet.

E SHOCK HAZARD

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

Remove the access panel from the top of the cabinet.

Remove the two (2) screws holding the high limit to the
heater.

Remove the wires attached to the two (2) heater terminals.

Remove the two (2) screws holding the heater to the module.

203



Y PENNY®

Global Foodservice Solutions

2-11. HEATER
(Continued)

Step 6

2-12. HIGH LIMIT

203

10.

11.

Models HHC-90X/HC-15

Remove the heater.

Install a new beater in reverse order.

NOIICE

If you have a 240V, 3,000 W unit, you must install the new
heater so that the coils are spread furthest apart where air
from the blower enters the heater.

Reattach the heater wires.

Refasten the high limit to the new heater.
Replace the access panel to the module.
Reconnect the electrical supply to the cabinet.

NOmICE

This section should be followed when replacing either of the
two (2) high limits in the cabinet. If there is a heating prob-
lem in the cabinet, both high limits should be tested.

Disconnect the electrical supply to the cabinet.

E SHOCK HAZARD

r J

To avoid elec e, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

Remove the access panel from the top of the cabinet.
Remove the wires attached to the high limit.

Check across high limit terminals for continuity. As long

as cabinet temperature is below 210°F and blower has been
operating properly, high limit should be closed, or read no
resistance. If high limit is found to be defective, replace it by
continuing with the following instructions.

Remove two (2) screws that hold high limit to the heater.



Y PENNY®

Global Foodservice Solutions

2-12. HIGH LIMIT
(Continued)

2-13. BLOWER

210

10.

Models HHC-90X/HC-15

Remove the high limit.

Install a new high limit in reverse order.
Reconnect the two wires to the high limit.
Replace the access panel to the module.

Reconnect the electrical supply to the cabinet.

INOICE

Procedures for blower motor replacement are the same on
both blowers.

Disconnect the electrical supply to the cabinet.

k)

SHOCK HAZARD

To avoid electrical shock or property damage, move the
power switch to OFF and disconnect main circuit
breaker, or unplug cord at wall receptacle.

Remove the access panel from the top of the cabinet.

Remove the three (3) screws that fasten the blower motor to
the blower housing.

Cut the two (2) blower wires approximately 2” away from the
blower.

Lift the blower motor and wheel out of the blower housing.
If replacing motor, fan, and wheel as an assembly, install new

assembly in reverse order. If replacing just the motor, con-
tinue onto step 7.

203



Y PENNY®

Global Foodservice Solutions

2-13. BLOWER
(Continued)

203

12.

13.

14.

Models HHC-90X/HC-15

NOIICE

The blower motor can be ordered as an assembly. This will
include the motor, the fan, and the wheel. Normally, just

the motor would need replacing if found to be defective. If
you are just replacing the motor, continue with the following
procedures.

The fan can be pulled off the shaft of the motor.

With a 5/64” Allen wrench, loosen the set screw that holds
the blower wheel to the motor shaft and remove the wheel.

Remove the four (4) screws that hold the blower cover to the
motor.

. Install a new blower motor in reverse order.

. Be sure to put the spacers back between the blower cover and

the motor.

NOTICE

When replacing a blower motor, be sure that the motor coil is
positioned away from the heater when reinstalling.

Reconnect the two wires to the new blower by stripping the
wire ends and fastening with wire nuts.

Replace the access panel to the module.

Reconnect the electrical supply to the cabinet.

2-11



Y IPENNY®

Global Foodservice Solutions

2-14. DOOR GASKET
REPLACEMENT

Steps 1 & 2

Models HHC-90X/HC-15

Pull the gasket to the side to expose the screws that hold the
retainer to the cabinet.

Loosen the screws around the full outside perimeter of the
gasket.

With the screws loose, the gasket should slide out from under
the retainer.

Remove the gasket and replace with a new one by reversing
the above procedures.

203



HEATER HEATER

3
=
2 THERMOSTAT
2 10 4y, 1
F 13 i
g 7@1\
S 11 o 44/ | HEAT LIGHT
LIMIT HI LIMIT
\\mwr mw POWER L IGHT
j\ 9 6 12 | RS —
(] Lv
BLOWER
MOTOR _ Te [} BLACK
ﬁAMUWg 15 f \“ . A v WHITE
% GREEN
g| BLOWER 5 g POWER
s MOTOR | Wit |V
O I 5 A =
FUSE

MODEL HC-900
120 VOLT 60 Hz
HENNY PENNY CORP .
EATON, OHIO 45520

2-15. WIRING DIAGRAMS

C25894

3

21

803



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

| NEUTRAL (BLUE) |
| EARTH

INT.
HARMON I ZED

PHASE (BROWN)

N. AMER.
CONF IG.

LINE (BLACK)
LINE (WHITE)

(GRN/YEL)

GROUND (GREEN)

—

1 & 2

NOT SUPPLIED

IF POWER CORD
WIRED DIRECT
TO POWER SWITCH

N

BLOWER
MOTOR

HEATER

POWER
LIGHT

BLOWER
MOTOR

HEAT
LIGHT

P

THERMOSTAT

HEATER

12

W

HC-900,HC-902
HC-9035,HC-908
208-240V 50,60 HZ
1586W, 2086W
HENNY PENNY CORP.
EATON, OHIO 45320

27240

807

214



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

o3 27
=\ D >
=| O
OBW
INT. & g
HARMONTZED | Z| = | BLOWER
Q5| & MOTOR
T | <<
a| =
=
|
S|E| e
N, AMER. m |-
CONF 1G. —|= 2 c
L | | 2
Z|Z| 2
T R R
® ® 8 HEATER
1 2
6 11
| 12
o —o—
10
1& 2 f - -
NOT SUPPL IED ¢
IF POWER CORD | 12 H | 15
WIRED DIRECT LIMIT
TO POWER SWITCH
HEATER
f
| BLOWER
MOTOR
o 2l 1]
Y
POWER HEAT
POWER
SWITCH | 3
@/D P
PN
6 4

13

4

THERMOSTAT

i

HC-900,HC-906

240V 50/60 HZ

S000W, 3086W
HENNY PENNY CORP.
EATON, OHIO 45320

27242

215

807



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

| ~ 15
e R —
PR o | | [ 7
, = 2 S | i
LINT Sl |
|
: o 19 | BLOWER
HARMONIZED [ 2 =] 1] 15! NOTOR
<| D| !
T | 1| <C 7 | Wv
| =| w , ~ 4l
_ J 7 _ _w ;
|
SEE ”
N. AMER. S|z |15 _AMP 1
CONFIG.  Z|E|g| 1[BREAKER: S C HEATER
olw| 3] | [ i 8 10
= |
SIS S ” 6] Ny
o ] ” P
— L= ,
[ T2 |
|
|
| , ”
|
, |
m B C HEATER
|
|
1& 2 | 14 t
| NOT SUPPLIED i !
IF POWER CORD | 13
| WIRED DIRECT | ,
TO POWER SWITCH
|
, 7
| | BLOWER
| | ” MOTOR
, , , o
AR ”
|
2 B E 13
L POWER HEAT
JRNY . L L IGHT LIGHT uv+
POWER o
EoueR | . THERMOSTAT
et e %
6 4 4

HC-900,
HC-902, HC-903
HC-906, HC-908

100,120V 50/60 HZ
1450W, 1586W
2086W
HENNY PENNY CORP.
EATON, OHIO 45320

25974

807

216



HEATER | HEATER

Models HHC-90X/HC-15

7

241

o A\
$ ¢
HI
:_.___q ﬂ%
I'.lu .E.M CONTROL H._.__
%wamy___.mu_u 2
1 M 18
&
| i |
TERM I NAL 1__..5__,%.:._9“ SanFre !
s BLOCK ~ "on 7E0 "
1 i . & {BROWN) ! LINE ¢
: ] ne G |
f A i I T
= (GRNAYEL) | GROUND Y
E TRANSF ORVER e e
o 15 22
m n| —
m s BLOWER BLOWER MODEL HC-900M,
s = ol T [ ¢ HC-902M, HC903M
z S 7 g 208/240V 50/60 HZ
& Z ; 2 1612W, 2086W
o g HENNY PENNY CORP.
;B EATON OHID 45320
e 31904
[g\]

506



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

1|

HEATER HEATER
TEMP . PROBE 7
RELAY
—— N.C.—— 2
z.o.a\
6
COM
13
——C0IL—6—
. - = S 19 3 CONTROL MZ
\ Z E%%UEHWT
14 14 13 20— 18
INTL. | N, AMER. |
ﬁHM/s 4 TERMINAL  HaRMONZED | CONF IG.
BLOCK | i
] PHASE | A
5 240° . e & (BROWN) ! LINE
208 NUETRAL | LN |
Nomxﬁow;o SA,%O 3 .ya ) 2 o o (BLUE) m
CONTROL - Ry 1 GROUND |
amﬁ%zmm ﬂm o of (SWYEL) . PR
15 »
POWER _
AT — MODEL HC-S00M
240V. 50,60 HZ
BLOWER BLOWER 3086 W.
MOTOR MOTOR 5 HENNY PENNY CORP.

7

EATON OHIO 45520

37448

803

218



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

2-15. WIRING DIAGRAMS (Continued

- o 15 AMP
INT. N. AMER. = BREAKER
HARMON | ZED CONF 16, 23} J22 21
| EARTH (GRN/YEL)| GROUND (GREEN) — 4 77
, Ho o 14
NEUTRAL (BLUE) | NEUTRAL (WHITE)d = L~
PHASE (BROWN) | LINE (BLACK) 4 [ A
||
1] ‘v[ 4 1
TERMINAL 8
BLOCK Y .
*;
BLOWER MOTOR
10
2 I HI
) 1 LIMIT G
K 14
2 i HEATER
HEATER
HI 9
D LIMIT C
< ——
N 12
6414
6
5
——® ) CONTROL
9| TRANSFORMER. 8
17
- BLOWER MOTOR :W w5
12 VAC 120 VAC
TEMP_PROBE 18 15 1
18| [17 |
[1]2]3] 12
P9 P2
| 1120
CONTROL BOARD 3l (644 L 3] 15) |16 15
=283
P10 7 T
o el i bed
200 |18 ReLAy | T
21| |6 6
21

MODEL HC-900M
HC-902M
HC-903M
100/120V. 50/60 HZ
1450/1612/2086W
HENNY PENNY CORP.,
EATON, OHIO 45320

57490

2-19

807



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

EIN A%

0¢¢Sy OIHO "NOLV3
"dd0O ANNdd ANNTH
MI80C/ 191 /0G|

"/H 09705 "AOCL/001

We06-0OH
WCO06-0H

WOO6-0OH 1300

9| [+ v
6l 0z
T4 HOLIMS n [elelt]
> 4IMOd
AN 9+ | old
28 s 5| |l Q4¥08 T0MINOD
slal st (¢ oc” |
AV3Y ¢d | WQ_ |
clz]!
A AHHHHHHHHTHMMqL Ll
ﬁ 3908d dn3L
Gl 8l
/[ VA 0Z1 M_H_Wo; zl
91 HOLON ¥IM018 e
- 7 o
IO ISN L o [
JOYLNOD S
Ll
71\ [9
Zl
-
5 LN
6 IH
REINE"
eI L |z
T
LINIT 1)
bl P H oA ©
9>
0l
HOLON: ¥3MoTg
PN f %0019
K TYNINYIL
| | s oh
. 4 F (%0v18) NI
i—"g, o5 GLIHN W13
. H (N3349) ANNO¥O
"914N0D
MIN N

X4 44

510

2-20



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

2-15. WIRING DIAGRAMS (Continued

1]

HEATER IHEATER
TEMP . PROBE
. RELAY [ 1]
j —NC— | T ]
10 x._. L./ 12 Mo“ 6
Hi N T 12 13
“l:/\::_‘ ——C0IL—@—
20 19
. . BW CONTROL M
13 — 17
]wEmo%oanﬂl
11 20— 18
INTL. ' N, >zmmﬂ|_
TERMINAL HaARMONIZED | CONFIG. 1
16 4 BLOCK i f
PHASE |
! 1 1 (BROWN) + LINE
5 2" o G 4 n
- lzs 17 NUETRAL | i
208 2 (BLUE) LINE |
208/240VAC 12 VAC 3 15 < 3 T t
7 18 EARTH _
4 | !
CONTROL 'S +\ o 5 {GRN/YEL) | GROUND
TRANSFORMER . -
+/ 6
15 B
16/ |POWER | — MODEL HC-S00M
& 240V . 50/60 HZ
BLOWER BLOWER 2086 W.
MOTOR MOTOR - HENNY PENNY CORP.
7 EATON OHIO 45520
3
° 575017

2-21

803



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

2-15. WIRING DIAGRAMS (Continued

ﬁ\\ 215 o _ __ _ - -
== ﬁ W — 21
| DS 20 U1 L
L INT. e d ] 2
HARMON I ZEDR | &2 | ~—| | ! == |l
| o T | MU 3 N
e e - ”
A; —— —— —— —— ——
R R ,
mik= ”
— L |
| ,
=S BLOWER )
N, AMER. 515 MOTOR =
CONFIG, Z|Z| 2 5
25|13 10
Szl HEATER
_ — o ®
1 2 ) 15
P 14 LIMIT <
M Jy
\4
HEATER
14
D
14
3
BLOWER 7 .
MOTOR ] -
g CONTROL 8
TEMP PROBE TRANSFORMER
D 17 16
(
17 12 <>0MSW 120 VAC
18 7
15
18|17 19]]20 16 %ﬁmz
, ] 20 12
(S He it e . - 6
P2 P1 N
e ads 74 % ﬂ 1
CONTROL BOARD 20D ﬁ
\ 3
RELAY 3 i
L

\\\\\wxm>xmm OPTION

HC-900BC
120V 60 Hz

, 2086W

, HENNY PENNY CORP.
7 EATON, OHIO 45320

54569

807

2-22



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

2-15. WIRING DIAGRAMS (Continued

H

N, AMER.
CONFIG.

BLOWER
MOTOR

INT .
HARMON | ZED

TERMINAL
BLOCK

POWER
SWITCH

5

BLOWER
MOTOR

HEATER

19

>

THERMOSTAT
y

*

HC-900,HC-902
HC-903,HC-906
HC-903
230V 50,60 HZ
13550W, 1900W
HENNY PENNY CORP,
EATON, OHIO 45320

44876

2-23

807



Models HHC-90X/HC-15

ice Solutions

Y PENNY®

Global Foodserv:

2-15. WIRING DIAGRAMS (Continued

HEATER HEATER TEMP. PROBE
s g [ |
g RELAY
10 10| AWWCM u.HHHH._u
HI HI Flnnlllh.lllll
LIMIT LIMIT T
L 4
h - e J 19 3 CONTROL M_
13 12 71 P4 Ps[ T}
23 0 : BOARD H_,l
- L ol 18
14 INTL. "..L ___....__mmlw
TERM INAL HapmoniZED Y CORFIG. !
BLOCK - ik
d o Lo |
o o (ERIONN) : )
2 MLIETRAL “ LIHE “
— {BLLE) : "
EARTH 1 ]
AE i ﬂua.ﬁ_._._E"
TRANSFORMER o AR o o
15
2 MODELS
— HC-900M & HC-903M
ALOWER BLOWER mwmmazuﬁmmgﬂm
MOTOR MOTOR 41 ’

HENNY PENNY CORP.

EATON OHIO 45320

44877

506

2-24



2-25

HENNY PENNY CORP,
EATON OHIO 45320

Y PENNY®

Global Foodservice

46968

0
%)
=]
3
S HEATER 18| HEATER
(8] 17 I.ﬂ._.. 18
= 8 8 THERMOSTAT
H L
r - i1 p—— O h——
(]
3 16 20
= 14
a 10 1 19 1 +|.._._m s
.__.___. 4
_._T_L: :ﬂ_: G RELAT HEAT
T i L IGHT
/ %2
m J
1.5 TL Lo e
FONER T TR snahenibre s B
LIGHT BLOCK ™ ™ o er | "
ol (GROM) | UINE |
||m , i m L IME m
,m - 5 (BLUE} " i
.m __ﬁﬁuu m nmEﬁ_m
£ 2 rall o i
o
7)) PIW=E
= < SWITCH
m | BLOWER  BLOWER N y
= MOTOR  MOTOR HC-900, HC-906
= T 5 230V . 50/60 HZ.
¢ O T S000W
iz B
3 o
>
[ —
=
v
o
&

506



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

e e e S
o o B ” m T
=] =R ! I |
Sz SIN. AMER. | o _________ .
m@ Z| | CONFIG. | REAR 10CDT DISPLAY  pr-p--------------------=
A = , 8 : PCB CpCoooooooooIIIIIoioo
- : | SroooooooIoooizoiios
Lo e 7 ! CEIIIIIIZIZIZIIZIIZ
B e | BLOWER | 125 -+
W M W MOTOR /¢ |\ || ~~—~~~~~""""°""T"TTTTTTTToTTTo
Sl T Bl OINTL.
o E| | HARMONIZED 5 8
i 5 B
o = 5
[ 9
©  ° O TERMINAL -
BLOCK D) 10 C
O O o) | Ez?
11 2 | —¢ __
| mm: :j HEATER |
| R
21 : 11 ”\ ”
H f 7 B~ PO
10 o |
LIMIT CONTROL 0ol
7 /s 9 TRANSFORKIER =~
-9 —— < <| ,—
EATER " f&(ﬁ&“@>& e
e > S—
BLOWER 13 2225
MOTOR N
17 N 18
uAv
SPEAKER - 12 © 12
3
C
TEMP . iy i e s I oot I gl
IERIERELT T/ mu‘flywlllllllgw “““““ _
© @2% |5 | POWER
SOL 1D 4 ul/%zOI b
CONTROL STATE Ne. & 5
PCB — RELAY 24
- _ 4 R =
% 18 HHC903M 10CDT
208/,/220-240V
BROW———@ 19 20 50,60 HZ
2 1612W/1790W
1 2 HENNY PENNY CORP.
1 EATON, OHIO 45320
/75992

807

2-26



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

T = 5
'8 g g ” s
=) E| EIN. AMER. ! DISPLAY
| S| Z| g/ CONFIG. . PCB
L2l 2 3 !
e 1 =1 | 7 125
43 BLOWER
= 2] ¢ MOTOR
B T B INTL. 7 8
= | Z| HARMONIZED
EJ I
o = 35
I 5 “. 1 NEW WIRES
5 & 5| TERMINAL e — _EXISTING WIRES
T T T | Ez?
2 7 Tl Qéﬁ\\\\+ HEATER .
7 P
21 : 11 m I ”
H] t 1 ,
] |
LT 100 conTROL 7 R[B!
-~ TRANSFORMER B P
o SN !
t HEATER 15 f>azhwwmw%4@
BLOWER 13 Mo
MOTOR 17 - 18
i =
SPEAKER 12 e 12
5
3 3 >
C |
TEMP. PROBE
124 23 a1 15 12
H —\_|POWER | /.
mwoﬁmwfé Mw\;///mg,aoz —1°
CONTROL STATE N2 S
PCB e BAc—13 RELAY 24
t——YELLO 174 |8 -8<|
1+ YELLO 18— — +
IS i ® @%\\ //m% @mmmwwwwémmwwH
\ —
%mm%z\oo 19 20 4o 50,60 HZ
5 CAP 16812W,/1790W
2 HENNY PENNY CORP.

1 EATON, OHIO 45320

74100

2-27

807



1209

Models HHC-90X/HC-15

09869
0Z$SH OIHO ‘NOLV3 ¥
"d400 ANN3d ANNIH
MIRG L
7ZH 09 AOZL YINHO SNV L L HOLIMS
006-0H o= =U0L_, ——
3l Ll = |or 9 Sl Lwl S
Y 91 (INOY4) | [
- 041800 " | ©ols||f
] 5 i _
1 -G EpEa)
NN 3804 6.l | )
JLv1S a1710s ENIILSELEN
I S
aLy vl
S
SOLOW
43IMOTS
/
ol
431VIH oLt
T
D) C
L9
NEILE e
LINIT — .
- _IWWWWMH” 9F
6
z |
® i . .
w o| dOLON
m ¥IMO18 S|1==
sm / ¢ S |m|m
Ly NHE
>} : BIEE
W Li=la
: Gt
=
I

2-28



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

g8G79/,

0¢¢Sy OIHO “NOLYA
"dd00 ANN3d ANN3H
MOGY |
ZH 09705 "A0OI
NOOB-OH 13C0ON

9 |1z
\;HY HOLINS L |y ol Jue
¥3INod [ele] ]
/ 6l 4 _ Old
at| for [e SECINE Q4Y08 T0MLNO
0¢
cd 6d
A0
30, EHEN]
LV] |8l
Gl 3l 3804d dn3L
7 fﬁ\>owﬂww9§§
oo HOLON 24308 b
¢
87 ~JINI0ISNVIL L o]
108.1NOJ ®
g
vl (9
7
N
) LN e
6 IH
Y3LY3H
Y31v3H O ¢
7l '
w WL LRENS C
H T
al
YOLON ¥3M08
L .
4 { %0018
3 TYNTAY3L
do oh —— ]
N_ 9° "B Covie) N1 | (Wiodg) JSvAd
ol — o JR(LIHE) WAININ | (3078) Tv3LNIN !
C— (N3349) ONNO¥D | (T3A/NY9) HLYY3 |
= ¥ oz “914N0D 037 INOWSVH
NENVEN = HON | N
dAv Gl

2-29

510



H Y IPENNY®
4 Global Foodservice Solutions

Models HHC-90X/HC-15

| EEES e
Ol m| £
| INT, 3719
HARMONIZED | Z| = |
| =l = 8
<| of| BLOWER
M R MOTOR
=
= o
N, MR, 2|Z[S
CONF 1G. ~[~= 2 L 11
AEE S\NHIT
—[5| = LIMIT
D C
o . e 8 10 HEATER
| |
| |
L9
T
| & 2 D) Uiy 40
| NOT SUPPLIED | HEATER
WIRED DIRECT 1T
TO POWER SWITCH 12
| | 7
| | BLOWER
MOTOR
5 1
/0/6 3* 12
POWER HEAT
POWER L IGHT L IGHT
SWITCH ‘\~;*
b . : V ?/X ‘15
N S oo » THERMOSTAT
u 5
B £
4
5

2-30

HHC-900 EM & HC-15, 208-240V/50 or 60 Hz/1 Phase, Non-UL, Non-CE

510



Models HHC-90X/HC-15

Y PENNY®

Global Foodservice Solutions

H

V8678

2-31

HHC-900 CDT, 208-240V/50 or 60 Hz/1 Phase, Non-UL, Non-CE

MOT13A
0¢¢Sy OIHO NOLV3
“d¥00 ANN3d ANNIH MOTT3A
7H09/06 11—
MZL9L-AOYZ/MIROZ-NOTC _
MOOS | -AOTZ/MO96 L -AOTC
MCLI1L-A80C/M980C-A80C % — [RS] Movg
NCOBOHH “WZOBIHH ‘IWOOBIHH o= ¢y—0a3d
L | — |
anis 13Ny HOL NS R N -1 i . g
4IMOd - H
H o o T T £ 8 Avi13y 8 A 7041NOJ H
7 g |+ - (s
o 3 [as) (A= )
ve L ey B 3%
=T 83 3 & ==
JYNSOIONT 1l 2 v o 0 ==
- 3 "
| o P ammomagﬁ _ - |
7 | ary
= N-¢1—
2 MINNOISNYAL
= QVACL
5 _| #INg
= ¢INg
AOST
@ 13STY TVONVA ~
N
2 )
. F¥NSOTONI I
43 1VIH
1
L7H o™
PYIH N =
d31V3H 0079 _lr__‘w,v__l
.
w LA TVNTAGSL oo
'H C 2|
. RS nocz L 91AN0O |81
~ 1353y vvn SV ONTEIS
R | |z
| 037 INOWMVH = |2
! TN g
Zng ! e
LING | /1=

510



W@ Models HHC-90X/HC-15
Global Foodservice Solutions

LIMITED WARRANTY FOR HENNY PENNY EQUIPMENT

Subject to the following conditions, Henny Penny Corporation makes the following limited warranties to the original pur-
chaser only for Henny Penny appliances and replacement parts:

NEW EQUIPMENT: Any part of a new appliance, except baskets, lamps, and fuses, which proves to be defective in
material or workmanship within two (2) years from date of original installation, will be repaired or replaced without
charge F.O.B. factory, Eaton, Ohio, or F.O.B. authorized distributor. Baskets will be repaired or replaced for ninety (90)
days from date of original installation. Lamps and fuses are not covered under this Limited Warranty. To validate this
warranty, the registration card for the appliance must be mailed to Henny Penny within ten (10) days after installation.

FILTER SYSTEM: Failure of any parts within a fryer filter system caused by the use of the non-OEM filters or
other unapproved filters is not covered under this Limited Warranty.

REPLACEMENT PARTS: Any appliance replacement part, except lamps and fuses, which proves to be defective in
material or workmanship within ninety (90) days from date of original installation will be repaired or replaced without
charge F.O.B. factory, Eaton, Ohio, or F.O.B. authorized distributor.

The warranty for new equipment covers the repair or replacement of the defective part and includes labor charges and
maximum mileage charges of 200 miles round trip for a period of one (1) year from the date of original installation.

The warranty for replacement parts covers only the repair or replacement of the defective part and does not include any
labor charges for the removal and installation of any parts, travel, or other expenses incidental to the repair or replacement of
a part.

EXTENDED FRYPOT WARRANTY: Henny Penny will replace any frypot that fails due to manufacturing or workmanship
issues for a period of up to seven (7) years from date of manufacture. This warranty shall not cover any frypot that fails due to
any misuse or abuse, such as heating of the frypot without shortening.

0TO 3 YEARS:  During this time, any frypot that fails due to manufacturing or workmanship issues will
be replaced at no charge for parts, labor, or freight. Henny Penny will either install a new frypot at no cost
or provide a new or reconditioned replacement fryer at no cost.

3TO7YEARS: During this time, any frypot that fails due to manufacturing or workmanship issues will
be replaced at no charge for the frypot only. Any freight charges and labor costs to install the new frypot
as well as the cost of any other parts replaced, such as insulation, thermal sensors, high limits, fittings, and
hardware, will be the responsibility of the owner.

Any claim must be presented to either Henny Penny or the distributor from whom the appliance was purchased. No allow-
ance will be granted for repairs made by anyone else without Henny Penny’s written consent. If damage occurs during shipping,
notify the sender at once so that a claim may be filed.

THE ABOVE LIMITED WARRANTY SETS FORTH THE SOLE REMEDY AGAINST HENNY PENNY FOR ANY
BREACH OF WARRANTY OR OTHER TERM. BUYER AGREES THAT NO OTHER REMEDY (INCLUDING CLAIMS
FOR ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES) SHALL BE AVAILABLE.

The above limited warranty does not apply (a) to damage resulting from accident, alteration, misuse, or abuse; (b) if the
equipment’s serial number is removed or defaced; or (c¢) for lamps and fuses. THE ABOVE LIMITED WARRANTY IS EX-
PRESSLY IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING MERCHANTABILITY AND
FITNESS, AND ALL OTHER WARRANTIES ARE EXCLUDED. HENNY PENNY NEITHER ASSUMES NOR AUTHO-
RIZES ANY PERSON TO ASSUME FOR IT ANY OTHER OBLIGATION OR LIABILITY.

Revised 01/01/07

2-30 107



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

SECTION 3. PARTS INFORMATION

3-1. INTRODUCTION This section identifies and lists the replaceable parts of the Henny
Penny Model HHC-900 heated holding cabinet.

3-2. GENUINE PARTS Use only genuine Henny Penny parts in your cabinet. Using a part
of lesser quality or substitute design may result in cabinet damage
or personal injury.

3-3. HOW TO FIND PARTS To find items you want to order from the Parts List, proceed
as follows:

1. Referring to the illustration in this section, find the part item
number of the part needed.

2. Find the item number in the parts list, which shows the Henny
Penny part number, a description of the part, any model or
usage limitations, and the quantity of parts used.

3-4. HOW TO ORDER Once the parts you want to order have been found in the Parts
List, write down the following information:

Example:
Item number 44
Part number 14635
Description Power Switch

From the data plate list the following information:

Example:
Product number HHC-900.0
Serial number 00179
Voltage 120

803 3-1



Y PENNY®

Global Foodservice Solutions

3-4. HOW TO ORDER

Models HHC-90X/HC-15

The following table has been provided as a sample format for you

(Continued) to use in preparing your spare parts orders. By providing all the
entries, your distributor will be able to ensure the correct parts
will be sent to you. Also, by prepayment your order will be
expedited.

FROM PARTS LIST YOUR ORDER
Item Part Quantity
Number Number Description Ordered Price Each Total
46 25183 Thermometer
Product No. HHC-900.0 Serial No. = 00179 Voltage 120

3-5. PRICES

3-6. DELIVERY

3-7. WARRANTY

3-8. RECOMMENDED
SPARE PARTS FOR
DISTRIBUTORS

3-2

Your distributor has a priced parts list and will be glad to inform
you of the cost of your parts order.

Commonly replaced items are stocked by your distributor and
will be sent out when your order is received. Other parts will be
ordered by your distributor from Henny Penny Corporation. Nor-
mally, these will be sent to your distributor within three working
days.

All replacement parts (except lamps and fuses) are warranted

for 90 days against manufacturing defects and workmanship. If
damage occurs during shipping, notify the sender and the carrier
at once so that a claim may be properly filed. Refer to warranty in
the front of this section for other rights and limitations.

Recommended replacement parts, stocked by your distributor, are
indicated with  in the parts lists. Please use care when order-
ing recommended parts, because all voltages and variations are
marked. Distributors should order parts based upon common
voltages and equipment sold in their territory.

106



W@ Models HHC-90X/HC-15
Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Figure 3-1. Control Module Assembly - UL & CE Approved

104 3-3



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908
Figure No.

& Item No. Part No. Description Quantity
3-1 Control Module Assembly - UL & CE Approved
1 25704 Panel - ACCESS ...vveiuiiieiieiieiieeie ettt et 1
1 51209 Panel ~ACCeSS - C E oo 1
2 SC01-053 Screw #8-32 X 1/2 PH RHD ....ccoooiiiiiiiiiieceeeeeee 4
3 48993 Panel - Rear (208/240V) S/A .....oooeieeeeee et 1
3 71092 Panel - Rear (120V) S/A ..o 1
3 25944 Panel Rear S/A: HC-903......ccooiiiiiiieeeeeeeeeeeeee e 1
3 28121 Panel - Rear HHC-906; HHC-908 ........cccvvvvvviiiiiiieeeeeeeee 1
3 49018 Panel - Rear - CE ......c.cooiioiiiiiieeeeeeee e 1
4 EC04-002 Terminal Flag #10-10-12 Ga....ccceevvievieniieiieieeeeeeeeee e 1
5 MS01-212 Cable #12/3, 2,000W/120V .....ooviiieieiieieseeeee e 8 Ft.
5 MSO01-175 Cable #14/3; 1500W/120V & 3000W/240V ....cccooveevevveiieerenen. 8 Ft.
5 67390 Power Cord Assy. - Twist - 120V/20A......cccooveeciieieieeeeieenen 1
5 67472 Power Cord Assy. - 125V, 20 AMP ..coivioienienieeieeieeneeeee e 1
5 44857 Power Cord Assy. - 1.OMM - CE..cccoviiiiiniiiiiiiiccecececee 1
5 71119 Power Cord Assy. - 1.5MM -HHC-906 - CE..........cccoeevveennnnee. 1
5 71120 Power Cord Assy. - Canada - 120V/30A-RT Angle ..........c..c...... 1
5 68412 Power Cord Assy. - Canada - 208/240/20A .........ccceeeeveevveeeneens 1
5 68413 Power Cord Assy. - 208/240/20A .......occeeveeieenieienieeiesieeieieeens 1
5 71384 Power Cord Assy. - Harmonized - Int’l. - 240V .......ccccoevenenen. 1
6 25765 Plug 125V, 20 Amp; Used on 2000W/120V .......ccccvvveiiveiienrennnnne 1
6 25764 Plug 125V, 15 Amp, Used on 1500W/120V .......c.ccccciiinnnnnnnnen. 1
6 63943 Plug 250V, 20 Amp; Used on 3000W/240V .........cccciiovenreneeanen. 1
6 28543 Plug - Twist - 120V/20A .....ccciieieeeeeeeeee ettt 1
6 71717 Plug - 120V, 30 Amp - RT Angle - Canada........cc.ccoeevverveneennnn. 1
7 SC01-010 Screw #6-32 X TI12 pH PHD ....oooiiiieiieeeeeee e 2
A 8 EF02-007 FUSe 15 AMD .ot 1
9 EF02-124 Connector - Cable 3/4 .........ooviiiiie i 1
10 SC02-023 Screw 48-B X 3/ pH THD .......ociiiiiiiiiiiecieeeeeee e 15
11 NS02-001 Nut #10-32 HEX KePS ..ovveneeeiiiiesiieiecieiestee e 1
A 12 EF02-006 FUse HOIACT.......ccuiiiiiiciieee it 1
13 NS02 005 Nut #6-32 HeX KePS ...eeoiueiiviiiieeieeeeeeeeeeee e 2
14 ECO01-010 Wire NUt 12-18 Ga..oooiiveiiiieieieceeieeeeescee et 2
15 76396 Top - ENClOSUTE. ... ooiieiiiiiie et 1
15 28153 Top HHC-906, HHC-908.........ocoieieeieeeeieeeee e 1
16 26225 INSUlAtION = COVET ..ovvieiieiieeieeieeieeeee et 1
17 SC02-041 Screw #8-18 x 7/16 PH IND XTRNL TORX.......cceevvvevrieiieinnns 18
18 25620 SCAL .t 2
19 25670 Cradle .. oot 1
20 25624 SCAL..ee et 2
21 25619 Gasket - Blower Outlet .........coooiiviiiiiniiiiieieniciceceee e 2
22 25618 Gasket REtaINeT......c.cueevuieriiiiieieeieeseeceee e 2
23 SC02-012 Screw #12-AB X 3/8 PA PHD .....ocooiiiiiiieeeeeee e 2
24 SC01-055 Screw #1 0-32 X 3/4 HeX HD...o.oovveniiieieeeceecee e 2
25 EF02-031 CLamp 1/4 X 3/87 oottt 2
26 EF02-033 CLamp 7/16 X 3/87 .ottt ettt 2
27 25627 GASKET ..ottt ettt ettt et an 2
28 25872 Blower Box Assembly (903 and all others)..........ccccevververnennnn. lor2
29 25616 BOX, BIOWET ....coiiiiiiieeeeeeeeeeee e 1

\ recommended parts

3-4

812



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
30 NS02-001 INUL ettt ettt e s e b e e e e reesnaeenaeenes 2
31 25698 Gasket, BIOWET Plate..........oooovoviiiiiiiiiiieiee e 2
32 25622 Flange, Inlet........ccooviiiiiieeeee e 1
33 25623 Housing, BIOWET ........c.cooviiiiiiieiiiceecee e 1
34 25941 Blower Box Assembly (903 only) ......cccceeevivviieiciiieieeeee e, 1
35 25924 Rear Box, BIOWET .......ouvviiiiiiiiiieiee e 1
36* 25942 Ho0sE COUPING ...oouvieiieiieiieeceeee e 1
37 NS02-001 INUL ettt ettt ettt ettt e et e e naas 2
38 25698 Gasket, Blower Plate........coooovuviiiiiiiiiiiiee e 2
39 25622 Flange, TNt .......cccvevieiieeieeeeeee e 1
40 25623 Housing, BIOWET .........cccuiiiieiiiiieciece e 1
41 25753 Blower Motor Assembly (120V) ..ccoevverieeiieieieeieeeeeeeeeeee 2
42 25621 Wheel, Blower, Std. ........ooooviiiiiiiiieeeee e 2
43 SC01-023 SCIEW ettt 2 e et e et e s e e e enbeeesaeenaaeensaeens 8
44 LW02-010 LOCKWAShET ....c.eiiiiiiiici it it 8
45 37157 Plate, BIOWET........oooiiiieee e it 2
46 81606 N L o LY (010 ) PP 8
A 47 25751 MOLOT (120V) .ottt 2
48 SC01-091 SCIEW e e et 4
49 25768 Spacer, Fan.....o...cooo i 2
A 50 25706 Fan, CoOlNg.....cccoiuiiiiiieeiieeeeee e 2
51 14249 Blower Motor Assembly (240V) ..ccoviviinieriieieieee it 2
52 52240 Wheel, Blower, INt’1..........ociiiiiiiii e, 2
53 SC01-023 SCIEW . iiuiiiieeiiiee et ettee et tee e eire e e e etre e e e etreseeebaaeeeesvaeeeeneres 8
54 LW02-010 LOCKWASHET ..ottt 8
55 37157 Plate, BIOWET.........cociiiiiiii e 2
56 81606 SPACET, MOLOT.....eeeeieieiieeiiieeiie ettt s e e eeseaeeeeeeesaaeeasaeens 8
A 57 25752 MOLOT (240V) .ttt sttt 2
58 SC01-091 SCIEW ettt 8
59 25768 Spacer, Fan...c..ccooiieeec et 2
A 60 25706 Fan, CoOliNg.......cooiiiiiieeceeiie e 2
A 61 51279 Heater 120V/T000W ........ccoeioiieienieeienie et eeesre e ssee e 2
A 61 74870 Heater 1T00V/TO00W .......cciciinieieriieiesieeiesie e sae e 2
A 61 67627 Heater 240V/T500W ..ottt 2
A 61 51278 Heater 120V/750W oottt 2
A 62 18201 High Limit Thermostat .........ccceevveeviierienieeieeieeceeeee e 2
A 62 59272 High Limit Sensor (manual reset)-CE ..........ccoceveviiiinienenieens 2
A 63 14635 Power Switch (toggle) .....oovvvveeiieiieeeece e 1
A 63 72277 Black Rocker Switch - CDT .......oooviiviiiniiiiiiiecieieeeceeeee, 1
A 63 52224 Rocker Switch - CDT - CE .....oooviiiiiiiiiiieeeeeeeeeeee, 1
B 64 16624 Indicator Light - Red.......cccceviiiiiiiiiiiiieeeeeeeeen 2
B 64 54085 Indicator Light - CE - GIreen........ccccoeveevieriieiienieeieeeeeeseeeen 2
B 65 14250 THErMOMETET.......ceiuieiiiieiiieiieciie e 1
66 25863 Knob - Thermostat...........ccceevieeiiieiienieniecieeeeeee e 1
67 SC02-030 Screw #8-B x 3/8 PH THD Black Oxide.........ccceevviervenienieenenne. 4
68 25717 Label Control Panel ...........cccocvvevieiienieniecieeeeeee e 1
68 44024 Label Control Panel - KFC ..........cccooiiiiiiiiiiiciccieceeeee e, 1
68 61445 Label Control Panel-Pollo Campero...........cccecvevveerveecreenreenieenen. 1
68 61523 Label Control Panel-Pollo Campero - HHC-903.......................... 1

\ recommended parts/* not shown

812 3-5



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
68 25948 Label Control Panel; Std. HHC-900 - Vented ............cccoeeeeeneeeennnen.. 1
68 44023 Label Control Panel KFC- Vented...........ccccevenininnienininieienenenee. 1
68 49119 Label Control Panel; HHC-906/908 (rocker-after Nov. 1, 2005)...... 1
68 28188 Label Control Panel; HHC-906 (toggle-before Nov. 1, 2005) .......... 1
68 28190 Label Control Panel; HHC-908 (toggle-before Nov. 1, 2005) ......... 1
68 85250 Label Control Panel KFC - CDT Vented.........ccoccevevenerienenenenee. 1
68 45616 Label Control Panel-HHC-906 Auto Water-CE .............cccccoveneenee. 1
68 49060 Label Control Panel - CE - Std. HHC-900............ccccoeiniiniininne 1
68 61470 Label Control Panel - HHC-903 - Wendy’s.......cccceeveeiiiieniinnieene 1
69 25786 Panel Control S/A HHC-900 ..........cccvviiiriirierierieeie e 1
69 69856 Panel Control S/A HHC-900 - SimpleHold............cccoeevveervnienirannns 1
69 25947 Panel Control STA HHC-903 .........oooiiiieeeeeeeeeee e 1
69 28182 Panel Control S/A HHC-906/908 (rocker-after Nov. 1, 2005)........... 1
69 14684 Panel Control S/A HHC-906/908 (replaces toggle-before Nov. 1, 2005) 1
69 49054 Panel Control S/A - CE - Std. HHC-900........cooiiiiiiieieeeeeee, 1
71 25241 Bracket Thermostat Mount ...........ic.ioetiniriereneeceeeeeeeee e 1
70 25263 Extension Thermostat Shaft......cciooooiiiiiii, 1
A 72 14209 Thermostat W/CIIPS ..itcueeeiiiee et 1
73 25734 InSulation 5 X 7 X Lieeoiieeiiieieeiee e 2
74 25733 Insulation 6 X 6 1/2 X 1..oieuieieiieee e 4
75 25735 Insulation 5 X 10 1/2 X 1 c.eooiiiiiiieiee s e e 2
76* 25950 Control Cable; HHC-903 .........ooiiiiiiiiieeieeeeeeeeeeee e 1
77* 27849 Actuator HHC-903 ..ottt 1
78* 51214 Vent HousSing - CE......coooiiiiiieiiiiieie et 2
79% 04158 Wiring Kit (higher wattage)-E/M-Top Cord.....cc..c.ctvevviiieririnirainns 1
79* 01460 Wiring Kit (higher wattage)-E/M-Rear Cord ....cc..cooceeviiiiiniiniene. 1
79* 01461 Wiring Kit (higher wattage)-S/S Controls..........ccccoeeeeveiervercienciennnene 1
79% 14903 KIT - 900 SW ASSY 100V EM Top CD.cueevveiiiieieeeeeeeeeeee 1
79%* 14904 KIT - 900 SWASSY 100V EM Rear CD.......cccoeveieiiiieeieeee. 1
79% 14905 KIT - 900 Switch ASSY 100V EM ...coooiiiiiiieieeeeeieeee 1
79* 14906 KIT - 900M Wiring 100V CDTc...oouviiiniiieiiineeieeneeeeeeeeen 1
A 83* ME90-003 Relay - 12V Coil 20A 240Vac - CE......ccoooveiiieieeeeeeeeee, 1
HHC-900/903 CDT Only - 13, 10, 6 & 5 Timers
3 37147 Rear Panel ASSY. ...cicviiiiiiiiiieeie et 1
5 37556 POWET COTd ASSY. «.vteveenieiiniteienieeiteteste ettt 1
A 63 43768 POWeT SWItCH...oiiiiiiieii e 1
69 37395 Control Panel Weld Assy - 903 - 6 TIMET........cccccveeeveeriereeieeieenneans 1
69 37285 Control Panel Weld Assy - Vented.........c.cooevveviieniieicieeciie e 1
69 30951 Control Panel Weld Assy - Not Vented.........coccoeevvevieiiniinienieee, 1
B 72 54577 Assy-Temperature Sensor (Boston Market) ...........cccoeeveeivrvienninnnn. 1
B 72 29523 PrODE ASSY. couveiiieiieiieiieie ettt ettt ettt re e e e bbb e be e e 1
A 80 83758 Control PCB - 3 digit - 13 Timer (SN:DA1005053 and above)........ 1
A 80 83760 Control PCB - 3 digit - 5 Timer (SN:DA1005053 and above).......... 1
A 80* 140115 Kit- Control PCB - 3 digit - 13 Timer (SN: GVOS3IE - DA1005052) 1
83761 Control PCB - 3 digit - 13 TIMeT.......cccvevvierrieieerieeieeieeieeveennens 1
A 80* 140116 Kit- Control PCB - 3 digit - 5 Timer (SN: GVO083IE - DA1005052) 1
83762 Control PCB - 3 digit - 5 Timer
A 80%* 31910RB Display PC Board Assy - 2 digit - 13 Timer; GV0S2IE and below... 1
A 80%* 37374RB Display PC Board Assy - 2 digit - 6 Timer; GVO82IE and below..... 1
A 80%* 73970RB Display PC Board Assy - 3 digit - 10 Timer (McD’s 903)................. 1

\ recommended parts/*not shown
3-6 714



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
A 81%* 78082RB Control PC Board Assy - 3 digit - 10 Timer (McD’s 903)........ 1
A 81%* 73968RB Control PC Board Assy-2 digit-5 & 13 Timer; GVO082IE and below 1
A 81* 70047RB Control PC Board Assy - 2 digit - 6 Timer; GVO82IE and below..... 1
B 82* 40500 Replaceable Beeper-3 Digit; GVO83IE and above.................... 1
B 82* 36210 Replaceable Beeper-2 Digit; GVO82IE and below................... 1
A 83* ME90-003  Relay 12V Coil ...oooiiiiiiiieiieeeeeee e 1
A 84* 30978 Transformer 115V ..o 1
A 84* 92406 Transformer 240V .....cocuoiiiiiie e 1

98* 14871 KIT - 903 CVSRN 5CDT to 10CDT (Front to Back)............... 2
99* 14885 KIT - 903 CVSRN 5CDT to 10CDT (Front to Front)............... 2
100* 14774 KIT - 900 120V KFC PRGM THERM.........cceoveiiieieee 1
101* 14775 KIT - 900 230/240V KFC PRGM THERM...........cceeeuvrennnnne 1
102* 14918 KIT - 903 CVSRN - STACKED.......cceotiiiieieecieeeieeene 1
HHC-900 CDT Decals
68 33874 Decal - KFC Vented = 3 digit ......cooeeeiienieeiieieeieeieeieeee 1
68 43952 Decal - KFC Non Vented -3 digit........ccceevveeeeieeniiieeieeeiiens 1
68 30950 Decal - GM 900 = 3 digit.....c.cecverieiieieieieeereeee e 1
68 31901 Decal - 903 = 6 Timer - Vented - 2 digit......c.cccceeveveenieerranennne 1
68 31931 Decal - 903 - 6 Timer - Non Vented - 2 digit...........ccceeeienennns 1
68 52347 Decal - GM 903 - 5 Timer - 3 digit......cccecvevveneeiieniieienicnnene 1
68 55180 Decal - 13 Timer - 903 - 3 digit (Churches)..........cc.ccoeeevrennennee. 1
68 61443 Decal - 900 Pollo Campero.........cecuveeereieeeieeiesiieeeiieeeieeeeieeenns 1
HHC-900 CDT-5 Timers-KFC
68 43073 Control Panel Decal ..........cocveviiiiniiiiniiiiiiicececeeeee 1
A 80* 51117RB Display PC Board .........cooovieiiiiiiiiiieeeeeeeeee e 1
140115 Kit-HC90X 13 Timer Replacement ............ccceveeviieiieniienenne. 1
140116 Kit-HC90X 5 Timer Replacement ............cccceeveeeieenienvrenenne. 1
A 81* 39167RB --Control PC Board.........cccoiiiiiiiieiiieeceeeceeeeeee 1
B 82* 40500 Replaceable Beeper.....ccciviiiniiiiieiieiiieieceeeee e 1
A 84%* 30978 TranSfOrMeT. ... .cooueiiiiiiiee e 1
Boston Market HHC-900
68 54511 DECAL ... 1
A 72 54577 Temperature SENSOT ASSY. ....ueerureerireerieeeiieeeiieesiareesinreesaeeenns 1
A 81%* 54571 PC B0ard ASSY. ..eeecvieeeiiieeiieeciee ettt 1
A 83* 40645 RELAY . e 1
A 84%* 30978 TranSfOrMeT . .....coiuiiiiiiii i 1
SimpleHold - HHC-900
A 61 51278 Heater 120V/750W ....ooiiiiiiiiiieiieeeeceeeee e 1
68 69894 DIECAL ...t 1
A 72 29523 Temperature SENSOT ASSY. ..cccuverriereeriieneenieereenre e 1
A 81* 69843 PC B0ard ASSY. ....ceeiiiiiieiieeiieeieeie ettt 1
A 83* 40645 ReLAY . e 1
A 84%* 30978 TraNSTOIMET ....cuviieiieeciie et 1

\ recommended parts/*not shown

714 3-7



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
C.E. Parts
5 44857 POWET COrd ASSY...uvviieiiieciieeeiie ettt 1
A 63 52224 Rocker SWitch - CDT = CE ...ooveeeeeeeeeeeeeeeeee e 1
A 63 43768 PoOWeEr SWILCH - PLASTIC ..vevveeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeaeee 1
68 49038 Decal - Control Panel - HHC-900.........coouumoeeeeeeeeieeeeeeeeeeeees 1
68 49060 Decal - Control Panel-Vented-HHC-903 ......ccooeeeeevveiieeeeeeeeen, 1
68 49086 Decal - Control Panel-KFC-HHC-900...........ceuueeueeeeeeeeeeeeeeeennnne 1
68 49118 Decal - Control Panel-w/Vent-HHC-906/908............evvueeeeeeene. 1
Vented Control Module
85% 48990 Rear Panel Studweld Assy (Full) 900.........c.ccoceeveieenieeirennnne. 1
85* 25944 Rr Pnl Studweld Assy (1/3) 903 (SN: DA0506014 & below).. 1
85% 68859 Rear Panel Studweld Assy (1/3) 903 (SN: DA0506015 & up). 1
85% 28123 Rear Panel Studweld Assy-906/908..........cccovevieeviieniercireneene 1
86* 28155 Cable - B/M . i i e 1
86* 25950 Cable - CD T . 1
87* 25964 HOSE = INTAKE ool i eeeeeeaees 1
8&* 25963 HOSE - EXRAUSTE ..o i oo 1
89* 25977 HOSE Clamp...c..oooiiiiieiie bt 4
90* 25942 Coupling = HOSC ......ooviiieeiiieeies et e 1
91%* 25999 Control Panel Stud ASSY ......ccccciiiiiieiiieecie s 1
Q2% 38429 Vent CONIIOL ATIN ... e e eeeeeeeeaeeeeeeees 1
93%* 38367 Knob - Vented MoOAUIE.......ocoveuueeeeeeeeeeeeeiiie i e 1
4% 27927 Spacer - Slide Vent (SN: DA0506014 & below) .......cccceueeeeee. 1
94 68574 Spacer - Slide Vent (SN: DA0506015 & above)...........c......... 1
Q5% 27828 Slide - Vent - Back (SN: DA0506014 & below)...........cc.......... 1
96* 28092 Slide - Vent - Blower - Box (SN: DA0506014 & below)......... 1
97* 25919 Slide - Vent (SN: DA0506014 & below) .....ccceevvveevienieennenne. 1
97* 68573 Slide - Vent (SN: DA0506015 & above) .......cccccveeveeveeenveennen. 1

\ recommended parts/*not shown

3-8 812



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

f 5a . s
5¢c . §
OPTIONAL At %
,A/W 3%31 ‘
. S |
X b :‘
38 y
32
s
6
16,
/33
New Standard Euro-Rack Original
Henny Penny Henny Penny

Figure 3-2. Cabinet Assembly - UL & CE Approved

908 3-9



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908
Figure No.

& Item No. Part No. Description Quantity
3-2 Cabinet Assembly - UL & CE Approved
1 Contact HP  Control Module 120V, 2,000W.........cccoovvmmivreeeieeiiiieiireeeeeen. 1
1 Contact HP  Control Module 120V, 1,500W, HHC-903 ............covvvvvvnnn..n. 1
1 Contact HP  Control Module 120V, 2,000W, HHC-906, HHC-908.............. 1
2 SC01-170 Screw #10-32 x 2-1/2 PH PHD....ccoooiiiiiieeee, 4
3 28816 Right Hand Top Door Assembly ..........cccceeevieeriiieinieeeniieciens 1
3 28817 Right Hand Bottom Door Assembly ..........ccccoecvveeviieenieennnens 1
3 28818 Left Hand Top Door Assembly .........ccccveeviiiienciieiniieeieecies 1
3 28819 Left Hand Bottom Door Assembly ..........ccccveevieeiniieinieeeiiens 1
3 27033 Right Door Assembly, HHC-903 ....c....c..coooiiiiiiiiiiiieeees 1
3 27034 Left Door Assembly, HHC-903 .......ccccoiiniiiiniiiiieeiee e 1
3 28158 Right Hand Top Door Assembly, HHC-906 ...............ccccc.e.... 1
3 85644 Left Hand Top Door Assembly, HHC-906.............c.ccccvveennneen. 1
3 85645 Right Hand Bottom Door Assembly, HHC-906 ....................... 1
3 85646 Left Hand Bottom Door Assembly, HHC-906.......................... 1
3 28166 Right Hand Door Assembly, HHC-908 ...........c.cccooviviiiennnns 1
3 28168 Left Hand Door Assembly, HHC-908..............c.cccovieieiiinennnns 1
4 14271 Kit - HHC-900 HiNge .......cooveiiieniieiiieieeieieee ettt 8
Sa SC01-086 Screw #10-32 x 1 PHTH S.ciiiiiiii i 16
Sb SCO01-225 Serew #10-32 x 3/4APHTH S ..o 24
5c 27146 Cover - Hinge Pin - Chrome............ccccceiivieencieeniee e 8
6 SC01-074 Screw #10-32 X 1/2 PH TH..o.oooiiiiiiieeeeee 16
7a LWO01-002  Lockwasher Split 1/4”........ccoeviieieiiiiieiieeeieeeee et 8
7b* WAOL-013  Flat Washer 1747 ..ot 8
8a SC01-039 Screw 1/4-20 x 1 Hex Head .......ccvvvieiieiiiieeeeee e 8
&b SC01-193 Screw 1/4-20 x 3/4” Hex Head .........cooeeiiiiiiiiniieieeee 8
9a 27155 Caster 57 (Se€ 1teM 52) ..iviuviieiiieeieeeieeeie e e 2
9b 40948 Caster-4”; Rigid (See 1tem 51)...cccveveviieeiiieeiieeeiie e 2
9¢ 58139 Caster-3” Dia.; 4” Height; Rigid (See item 50) ........cccceeneennee. 2
9d 18645 CaSter 2-1/27 1 2
O¢ 68804 Caster 57 - CE ..o 2
of 28170 Caster 5” Non-Swivel HHC-906, HHC-908............c.cceeuenneene. 2
Og 19004 LT 1) RS 4
%h 78671 Caster 1.57 = SWIVEl ..cocuiiiiiiiiiiiiiieee e 4
10a 27154 Caster 5” W/Brake (See 1tem 52)......cccceeevieenciieeniieeniee e 2
10b 40947 Caster-4”; Swivel W/Brake (See item 51) .....cceevviivvieeennennne, 2
10c 58138 Caster-3” Dia.; 4” Height; Swivel W/Brake (See item 50)....... 2
10d 18646 Caster 3” W/Brake ........coooeiviiiiiiiiiiiiieeeeee e 2
10e 68803 Caster 5” W/Brake - CE......ccccooiiiiiiiiiiiceceee 2
11 SC01-075 Screw #10-32 X 3/. PHT TH ..cvoiiiiiiiieeeeee, 12
12 25695 WaASHET ... 12

\ recommended parts/*not shown
3-10 912



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
13 25644 SPACET ...t 12
14 25687 Retainer, HHC-900; HHC-903 .........ccoooiiiiiiiiieeeieeee 8 &4
14 28117 Retainer, HHC-906; HHC-908 ..........c.ccooviiiieiiieiiecieeieee, 8 &4
15 SC02-041 Screw #8-18 x 7/16 PH IND XTRNL TORX........cccovveuvrennenns 24
16 25689 Retainer, HHC-900 ..........ccooiiiinieiieeeeeeeeeeee e 8
16 25690 Retainer, HHC-903 ........cocooiiiiiieeeeeeee e 4
17 NS01-008 NUt #8-32 HEX S ..ot 10
18 LW02-006  Lockwasher Internal #8 S .......c.coooiieiiiiieie e 10
19 SCO1 -053  Screw #8-32 X 1/2 PH RHD.....cccocooviiiiiiieieeeeeeeee, 10
B 20 25643 GaSKEt DOOT ...ttt 4
B 20 25793 Gasket - Door, HHC-903 .........coiieiieieieececeeeeeee e 4
B 20 28147 Gasket - Door, HHC-906 .....c...c..c.cciootimminiiiiiiiiiiiiiiiiiieieieeeeen 2
B 20 28143 Gasket - Door, HHC-908 -........cccicciiiiiiiiiieeeeeeeeeeeeeeeee 1
21 71478 Water Box Assembly with Handle - HHC-903 - Flip Doors .... 1
21 25879 Water Box Assembly with Handle.............cccooeeviiiiiininnn, 1
22 25707 Water Box and Stud Assembly ........cccceeevveviiieiniiieenieeenen. 1
22 70381 Water Box and Stud Assembly - HHC-903 - Flip Doors.... 1
23 25646 D10 1<) P SRS 1
24 25685 PUull. e e 1
25 LW02-005 Lockwasher Internal #10 ....ccccoeeouveeveieerciieiiiineee e, 2
26 NS03-030 Nut Acorn #10-32 ..ooiiiiieiieieeeeeeee e e 2
27 27895 Air Duct Assembly - UPPeT ........ceevvveereiiiriiiieniieeeieeesveeenivee s 2
27 42964 Air Duct Assembly - Upper - HHC-900K ( SIB ) .........ccne. 2
27 52345 Air Duct -Upper-KFC-Int’l-CDT-15 Tray .......cccccecvveeeveeernennns 2
27 25957 Air Duct Assembly - HHC-903.........coooiiiiiieeeeeee e, 2
27 70387 Air Duct Assembly - HHC-903 - Flip Doors..........ccccveeuvennennne. 2
27 70032 Air Duct Assembly - HHC-903 - Pollo Campero...................... 2
27 34928 Air Duct Assembly- Upper - Boston MKkt. ..........cccceevveirennnne. 2
27 55181 Air Duct Assembly- Upper- Churches..........ccccoevieviiiiiiennnne. 2
27 55087 Air Duct Assembly-Upper-Wendy’s #10 .........ccceeeeviiiivennnne 2
27 28129 Air Duct-Upper ONLY-NO SLIDES HHC-906 (uses 28133 slides) 2
27 34519 Air Duct-Upper ONLY-NO SLIDES-Knotts Berry-HC-906 (uses 34536 slides) 2
28 55088 Air Duct Assembly-Lower-Wendy’s #10........c.ccccceevvenienennene 2
28 55084 Air Duct Assembly-Wendy’s-903 Plast. ..........ccceevvvveeiieennenns 2
28 27811 Air Duct Assembly - LOWET .....c..ceevuvieriiieeiiieeiie e 2
28 55187 Air Duct Assembly- Lower-Churches............cccceeveveeenieennnnennns 2
28 34929 Air Duct Assembly-Lower-Boston Mkt...........ccccoecvvvvniieennnnns 2
28 52346 Air Duct-Lower-KFC-Int’[-CDT-15 Tray......ccccceeeevveerveeennenns 2
28 42965 Air Duct Assembly - Lower HHC-900K(SIB) .........ccccuveunee.e. 2
28 28130 Air Duct ONLY-NO SLIDES - Lower HHC-906 (uses 28133 slides) 2
28 34517 Air Duct -Lower ONLY-NO SLIDES-Knotts Berry-HC-906 (uses 34536 slides) 2
28 28128 Air Duct ONLY-NO SLIDES - HHC-908 (uses 28133 slides). 2
28 34553 Air Duct ONLY-NO SLIDES-Knotts Berry-HC-908 (uses 34536 slides) 2

\ recommended parts
914 3-11



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

Item No. Part No. Description Quantity
29 25696 HanGeT.....oooiieeeeee e 16
30 SC02-023 Screw #8-B x 3/8 PH THD S......ooiiiiiiiiieeeeceeee, 8
31 14272 Latch/Screw Kit .....coooiiiniiiiiiiniiiccccececceee e 4
32 SC01-186 Screw #10-32 X 1-3/4 PH....ooovveiieieeeeeeeeeeeee e 16
33 34536 Slides ONLY - HHC-906, HHC-908 ........cccevieieieieeieenee. 22&8
34 28133 Slides ONLY, HHC-906, HHC-908............cccoevirierieieeieienee. 22&8
35 34544 Air Duct Assembly Complete - HHC-908,...........ccceeeevvennnnns 2
35 34545 Air Duct Assembly Complete - Lower - HHC-906 ................. 2
35 34550 Air Duct Assembly Complete - Upper - HHC-906 .................. 2
36 14647 Kit - Leg Adjustable - 4 inch (Setof 4 1egs)......cccveviervrennnnne. 1
36 68946 Legs - Adjustable - 4 inch.......cccoiiiiiiniiiiie 4
37 68937 Weld Assy - Mtg. Plate & Leg -4 inch.......cccoovveeiiennennne. 4
38 26120 Foot - Adjustable..c....cc..oiviiiiieiieieeeee e 4
39 27149 StOP = DOOT ...t e 4
39 34949 Door Stop - Boston MKt.........ccceeviiieiiiieiieeiee e 4
40%* 27146 Chrome Hinge COVET ......ccuvieiiieeiie et 1
41%* 27912 Handle, HHC-906, HHC-908 ..........ccccooiiiiiieieeceeeeeee 1
42% 27939 Brkt. Handle, HHC-906, HHC-908 .........ccccooveiieiiiiiieiieee 2
43%* 58116 Hinge Plate (Tap Bar) HHC-900...........ccccooieviieiiiiiiinineee, 4
44%* 58274 Hinge Plate (Tap Bar) HHC-903 ... 4
45% 03182 Worktop - HHC-903.......coi ittt 1
46* 56179 Worktop - HHC-908.... ..ot 1
47%* 14853 Kit - 903 Undercounter CVSRN.........ccciiiiiiiiniiiiiiiecieeee 1
48%* 58047 Insulation - Side......icivieriiiiii i 2
49%* 03559 Accessory - Storage Bin.........c.oeiiiiieeiiniieiecieeee e 1
50%* 86832 3” Caster Set (Incluides items 7a, 7b, 8b, 9b, & 10b)............... 1
51%* 86833 4> Caster Set (Incluides items 7a, 7b, 8b, 9¢, & 10¢)............... 1
52% 86850 5” Caster Set (Incluides items 7a, 8a, 9a, & 10a)...................... 1

Glass Doors Only
3 54353 Glass Door Assembly - 1/3 size(LH) .....cccceevvievriieeieeniieene 1
3 54352 Glass Door Assembly - 1/3 size(RH).......ccceevvveeviieiiieeeiieenne, 1
-- 30517* Nut - Glass Retainer.........ccceevuerierienienierieieeeeeeeeeeeeee 4
3 59257 Glass Door Assy.-Left, TOP.....cccveevierieiiieeiieiecieeee e 1
3 59258 Glass Door Assy.-Left, Bottom..........ccccceeviieiiincieeiecieeee 1
3 59260 Glass Door Assy.-Right, TOP.......ccceeriiiiieiiieiecieeeeceeee 1
3 59261 Glass Door Assy.-Right, Bottom............cccoeceieviieniiiiieniieicne 1
3 76480 Glass Door Assy. - 1/2 81ze (MCD’S)....ccceeriieiiiiiiieiieeieeene 1
Church’s HHC-903
3 54353 Glass Door Assembly - 1/3 size (LH) oo 1
3 54352 Glass Door Assembly - 1/3 size (RH)....cccceevvveeeiiieiieeiene, 1
* not shown

312 510



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

900-Full Size
Door Assy.

17

0%,

“wr

/ |
8

I 1

2!

.f?"
8

T

1
903-Third Size
Door Assy.

/

18
\', 17
19/ t ﬁf

Y

20
Figure 3-3. Flip-Up Door Assemblies (HHC-903 - SN: DA0511040 & Above)

908 313



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

UL & CE Approved - HHC-900/902/903/904/906/908

NOIICE

* HHC-903’s (1/3-size) with SN: DA0511039 & below, SN required.
* HHC-900 (full-size) with SN: DA0511039 & below, no parts available.
Complete door assembly must be ordered.

Figure No. Qty per Door
& Item No. Part No. Description 9200 903
3-3 Flip-Up Door Assemblies

1 71309 Assy - Door - Flip - RH - Full Size .....c.ccccovevvvievienieeierieeeseeniens 1 -
1 71403 Assy - Door - Flip - LH - Full Siz€ .....ccoovvevvieiieiieieeeeeeeeieenn, 1 -
1 71466 Assy - Door - Flip - RH - 1/3 Size (DA0511040 & Above).............. - 1
1 71467 Assy - Door - Flip - LH - 1/3 Size (DA0511040 & Above).............. - 1
2 75544-004 Panel - Flip Door - 9.562 HGT.........cccooveiieniieieieieeeeeeeesee s 1

3 75544-003 Panel - Flip Door - 6.860 HGT....coc.ivecitvennieiieiieiieieeceeeeieesieeniens 1 -
4 75544-005 Panel - Flip Door - 6.735 HGT oot 1 -
5 75544-001 Panel - Upper Flip Door - 1/3 SiZe€...ciieievininiiiinineniccnienceene - 1
6 75544-002 Panel - Lower Flip Door- 8. 108 HGT ........cccccovevievieenieiieiieeeieens - 1
7 71308 Assy - Hinge - Panel = Do0r - FHp......cocvevieiieiieieeceeeeeeeine 3 2
8 71067 ROd = FIIP DOOT ...ttt 3 2
9 71316 Spring - FIiPp DOOT ......oeeiiiiiiieiiee et 3 2
10 70768 Cam - Flip Door = RH......oociiiiiiiiiesiteeeeeeeee s 3 2
10 70769 Cam = FLip DOOT - LH...c.viiiiiiiiieeeceeeese e 3 2
11 73320 Extrusion = FIip DOOT .........oociiiiiiieiie s 3 2
12 SC01-032 Screw - #8-32 x 5/8 PH 100 FHD SS.....ccooiiieiiiieeeeee 6 4
13 LW02-006 Lockwasher - Internal - #8'S .....cccoiiiiiiiiie it 6 4
14 NS03-024 Nut - #8-32 Low Crown Acorn - B P ..., 6 4
15 14272 Kit - HC-900 Door Handle ..........ccceoeeriiiinniieniiieeeneseeniceneeneene 1 1
16 SC01-186 Screw - #10-32 x 1-3/4 PH FHD . SS.i..cuiiiiiiieee e 4 4
17 14271 Kit - HC-900 Door HINGE......cocveeitiiieiinienieiieeereeseeeee e 2 2
18 SC01-086 Screw - #8-32 x 1 PHFHD S....ooiiiiee e 4 4
19 71310 Weld Assy - Flip Door Frame - RH - Full Size .........ccoceiinieiene. 1 -
19 71404 Weld Assy - Flip Door Frame - LH - Full Size..........cccccccveiiinnnnn. 1 -
19 71056 Weld Assy - Flip Door Frame - RH - 1/3 Size......cccoceeveninencenennen. - 1
19 71057 Weld Assy - Flip Door Frame - LH - 1/3 Size.......cocevevininennnen. - 1
20 03557 Accessory - FIip Door Tray ....cceevvevieiienienieneesiesee e snesne e - 1

3-14 908



W@ Models HHC-90X/HC-15
Global Foodservice Solutions

Non-UL & Non-CE Approved - HHC-900 EM, HHC-900 CDT, & HC-15

Figure 3-4. Control Module Assembly - Non-UL, Non-CE

510 315



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

Non-UL & Non-CE Approved - HHC-900 EM, HHC-900 CDT, & HC-15
Figure No.

& Item No. Part No. Description Quantity
34 Control Module Assembly - Non-UL, Non-CE
1 72312 Panel - Access Louvers (HHC-900EM & HC-15).................... 1
1 80890 Panel -Access Louvers (HHC-900CDT) .......cccevveevvienveennennne. 1
2 SC02-023 Screw #8-32 X 1/2 PH RHD......oooviiiiiiicieeceeeeeee 4
3 28029 Panel - Rear (208/240V) S/A (HHC-900EM).........ccccevuvenenne 1
3 72404 Panel - Rear (120V) S/A (HHC-900CDT).....ccceevveecvierireenrenee. 1
3 72317 Panel Rear S/A (HC-15)..ccuuieeieeeeeeeeeeeeee e 1
4 EC04-004 Terminal Flag #10-10-12 Ga.....c.cooveviieiieiieieeeeeee e 1
5 31584 Power Cord Assy (HHC-900CDT) .....ccoevviveeeiiieeriieeeiee e 1
5 71384 Power Cord Assy-240V (HHC-900EM & HC-15)................... 1
5 72532 ASSY-PWR CORD 120/30A TWIST LK .....coocvveiieieeiieiens 1
7 SC01-010 Screw #6-32 X 112 pH PHD ..c..ooociiiiiiiciiee e 2
A8 EF02-007 FUse 15 AMP c.eoeiiiiiiii it 1
9 49778 Connector - Cable 3/4 i i 1
10 SC02-023 Screw 48-B X 3/8 pH THD ..c.ooooviieiieiieieeceeeeeee 15
11 NS02-001 Nut #10-32 Hex Kepsi.c.ooioieriiiieniecieciececececeee e 1
A 12 EF02-006 Fuse HOIA@T ...co.iiiiiieiiiiecieee e 1
13 NS02 005 Nut #6-32 HEX KPS ..eoovvieiieeiiieiiect e 2
14 ECO01-010 Wire Nut 12-18 Ga....ooovieiiieiie it 2
15 72305 Top - Enclosure (HHC-900EM & HC-15).....cccooieeviveneieennennee. 1
15 84607 Top - Enclosure (HHC-900CDT)......ccccovvevvieeeiiiieeiiecieeeene 1
16 26225 InSulation - COVET .......oieeiieriiiiiieiiece st 1
17 SC02-041 Screw #8-18 x 7/16 PH IND XTRNL TORX........ccccevverurennnen. 18
18 25620 SCAL..eieieitie e e et s 2
19 25670 Cradle. ..o e e 1
20 25624 SCAL....eiii it e et aeeeara s 2
21 25619 Gasket - Blower Outlet .....cc.ccovvieiiieeiieeciecceeecee e, 2
22 25618 Gasket REtAINET ..........cocioiiiniieiieiiece et 2
23 SC02-041 Screw #8-18 x 7/16 PH IND XTRNL TORX........cccevvverurennnne. 2
24 SC01-074 Screw #10-32 X 3/4 HeX HD...ooovvveeieeeeeeeee e 2
25 EF02-031 Clamp 1/4 X 3/87 (HC-15) weooiiieiieeeeeeeeeeeeee e 2
26 EF02-003 WL THC...viieiiiieiie ettt et eebe e 4
27 25627 GASKEL .. e 2
28 72915 Blower Box Assembly (HHC-900 EM & CDT)........ccceeeneeee. 2
29 72914 Box, Blower (HHC-900 EM & CDT) .....oocvvvevviieiieiieeene 1
30 NS02-001 UL ettt ettt et et se et e e e sseebeesaenseenseeneas 2
31 25698 Gasket, Blower Plate (HHC-900 EM & CDT)..................... 1
32 25622 Flange, Inlet (HHC-900 EM & CDT)...ccvoevvevvieeiieiieenenee 1
33 25623 Housing, Blower (HHC-900 EM & CDT)....cccceecvveuieennnee. 1
34 87097 Blower Box Assembly (HC-15)....c.cccciviieniiiiiiieeieieeieene 2
35 72914 Rear Box, Blower (HC-15).....ccccooviiiiiieiieiieieceeeeee 1
37 NS02-001 INULL ettt ettt e et st enaeeens 2
38 25698 Gasket, Blower Plate (HC-15).....ccccooveviiiiieiieiieieeee 2
39 25622 Flange, Inlet (HC-15)....ccooiiieiiieieeeeeeeeee e 1
40 25623 Housing, Blower (HC-15).......ccccioiiiiiiiiiiieieeieeee 1

\ recommended parts

3-16 613



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

Non-UL & Non-CE Approved - HHC-900 EM, HHC-900 CDT, & HC-15

Item No. Part No. Description Quantity
51 14249 Blower Motor Assembly (240V) .....cocveiiiiiiiiiiiieiecieeee 2
52 52240 Wheel, Blower, INt’L........cooviioiiiieieeeeeeeeeeeeeee e 1
53 SC01-023 SCIEW ...ttt ettt ettt ettt e be e s eebeeeeaeennees 4
54 LWO02-010 LOCKWASHET ......ooiiiiiiiiiicieee e 4
55 37157 Plate, BIOWET ......oooiiiiiiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeeeeeee et 1
56 81606 N T LY (0] 10 ) oSS 4
A 57 25752 MOLOT (2ZA0V) .ttt 1
58 SC01-091 SCTEW .ttt ettt ettt e e ba e e ebeenbeessaeenneas 4
59 25768 Spacer, Fan........coooioiiiiiiiice 1
A 60 25706 Fan, Cooling........ccoeoiiiiieniiieie e 1
A 61 51279 Heater 120V/T000W ......cooviiiieeiieeie et 2
A 62 18201 High Limit Thermostat...........c.ccoceoiuenvinernenieneneneeeeieneene 2
A 63 95230 Power Switch (HHC-900EM & HC-15)....cccovviviiiieiieennne 1
A 63 72277 Black Rocker Switch (HHC-900CDT) ......ccccovvieieeiieeieenee 1
B 64 16624 Indicator Light - Red (HHC-900EM & HC-15)........ccceenee 2
A 65 14250 Thermometer (HHC-900 EM & HC-15) ...ccovvieiviieiieceiee 1
66 25863 Knob - Thermostat ...........cccveeeiieeiiie i 1
67 SC02-030 Screw #8-B x 3/8 PH THD Black Oxide.........ccceevievurenerennen. 4
68 44204 Decal-Control (HHC-900EM) ......cccoooviiiiiiiiiieeie i 1
68 85249 Decal-Control (HHC-900CDT) ...cuveevieiieeiieiiienieeciee e 1
68 87065 Decal-Control (HC-15) .....cciiriiieiiieeeeeeeee e 1
69 72440 Panel Control S/A (HHC-900EM & HC-15) .ccuocvvieviiiennee 1
69 81307 Panel Control S/A (HHC-900CDT).......ccccoivievvieeieeieeieeeeee 1
71 25241 Bracket Thermostat Mount ..............ccoveevieeciienieniieniecieeeene 1
A 72 14209 Thermostat W/CIIPS ...veeeveieeiieeeeie i et 1
73 25734 INSUlation 5 X 7 X L.ueeeoieeeieeecite i 2
74 25733 Insulation 6 X 6 1/2 X 1 ..ooiiiiiieiieieeieeecee e 4
75 25735 Insulation 5 X 10 1/2 X 1 ieiieeiieiieieeeeeeeeeee e 2
A 80* 83758 Control & Display PCB Assy - 13 Timer (HHC-900CDT)...... 1
A 83* ME90-009  Relay 240V coil, 30A (HHC-900CDT) ....cceeevvevreeiieieciennee. 1
A 84* 92406 Transformer 240V (HHC-900CDT) .....ccocvvveviieeiieeieeeeieeee 1
103* 27870 Insulator, Fan Motor ...........cccoveeiiiiiiieieiieee e 1

\ recommended parts/* not shown

613 317



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

Non-UL & Non-CE Approved - HHC-900 EM, HHC-900 CDT, & HC-15

Y 29
~ S
f 5a B
5¢c §
OPTIONAL =

/ yal -3
ey
w
\%_‘
A\Y
ORI
—

37
.
38

W
N

{

—
[<2]

‘/ (2]
S

33

/

p—C
QW-\___
New Standard Euro-Rack Original
Henny Penny Henny Penny

Figure 3-5. Cabinet Assembly - Non-UL, Non-CE

3-18 510



Y PENNY® Models HHC-90X/HC-15

Global Foodservice Solutions

Non-UL & Non-CE Approved - HHC-900 EM, HHC-900 CDT, & HC-15
Figure No.

& Item No. Part No. Description Quantity
3-5 Cabinet Assembly - Non-UL, Non-CE
2 SC01-170 Screw #10-32 X 2-1/2 PH PHD......oooiiiiiiieeeee, 4
2% LWO02-004 LOCKWASHET ....cuviiiiiiieiiecceee e 4
2% WAO01-022 FIat Washer .....cc.cooviiiiiieeeeeeeee e 2
2% 37151 Spacer (HHC-900EM & HC-15) .ouveiiiiieiiieieeeeeeee e 2
3 59257 Glass Door Assy.-Left, TOP..cccverieriieiieierieceeeee e 1
3 59258 Glass Door Assy.-Left, Bottom..........ccceovevvieiieeciienienieeeeieenen 1
3 59260 Glass Door Assy.-Right, TOP.....c.cceveriereniiiinieierceeseeeeeens 1
3 59261 Glass Door Assy.-Right, Bottom............cccceeeeviieniiencieeieeeiee e 1
4 14271 Kt - HINGE oottt ittt 8
Sa SC01-086 Screw #10-32 X TPHTH S ..o, 16
5b SC01-225 Screw #10-32 X 3/4 PHTH S ....icioieeieeeeeeeee e, 24
5¢ 27146 Cover - Hinge Pin - Chrome ......c.ccoeieenienieeiieieceeeeee e 8
6 SC01-074 Screw #10-32 X 1/2 PH TH...cccieiiiiieieeeeeeeee e 16
7 LWO01-002 Lockwasher Split 1/47 ... i 8
8 SCO01-104 Screw 1/4-20 x 1-172” Hex Head.......c.ccooveviiiviiniiiiiiiieicee 8
9 72365 CASTET 577 s i e ettt ettt et 2
10 72364 Caster 57 W/BTaKe ......ioviiiiiieiee it 2
11 SC01-075 Screw #10-32 X 3/, PHT TH ...ocovooieiiiieieeeeeee e, 12
12 25695 WaASHCT ...ttt s 12
13 25644 N ST R S SO 12
14 25687 REEAINET ...ttt ittt e de et et e e e e e aeas 8&4
15 SC02-041 Screw #8-18 x 7/16 PH IND XTRNL TORX .....ccoeviiieieieenee, 24
16 25689 RETAINET ..ottt 8
17 NS01-008 NUL #8-32 HEX S .o iiieieiieeeeeeee s it 10
18 LWO02-006 Lockwasher Internal #8 S ..., 10
19 27944 Cap SCIEW 8 o ettt 10
B 20 25643 GASKEt DOOT ..ottt 4
21 72405 Water Box Assembly with Handle...........ccoocovieniniininiiins 1
22 72406 Water Box and Stud Assembly.........cccooeveivieviienciieiiieeieeee, 1
23 25646 WP ittt et 1
24 25685 Pl 1
25 LWO02-005 Lockwasher Internal #10 ........ccccoovvvviiiiiiieniiieneeeeeeeeen 2
26 NS03-030 NUt ACOTN #10-32 ..ot 2
27 27895 Air Duct Assembly - Upper (HHC-900CDT).......cccvvvvveeveenennen. 2
27 52345 Air Duct -Upper-15 Tray (HHC-900EM & HC-15)......ccccceueeeee. 2
28 27811 Air Duct Assembly - Lower (HHC-900CDT) ......cccceoevvevcvivennenns 2
28 52346 Air Duct-Lower-15 Tray (HHC-900EM & HC-15).........ccc.c.... 2
31 14272 Latch/Screw Kit......occveiiiiiieiieiieeeeeeeeee e 4
32 SC01-186 Screw #10-32 X 1-3/4 PH ..eooviieeeeeeeeeee e 16
39 27149 Stop - Door (HHC-900EM & HHC-900CDT) ......cccvvevveiiennnnee 4
48%* 58047 INSulation = Side......ccceeeiieiieiiecieee e 1
53* 72366 Plate - Caster (HHC-900EM) .......cccoiiiiiiniiieiieeee e 4

\ recommended parts / * not shown

812 3-19








